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OFers JUN - 13225/11—C
PSYCHOLOGY
Paper 11
HAHEINTEHA
PEELIECI|
Time Allowed : 2 Hours] [Maximum Marks : 200

Note : This Question Paper contains Hundred (100) multiple choice questions.
Each question carries Two (2) marks. Attempt All questions.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)
O SR, Wel WA Hredl.

1. What argument Nagarjuna gives to | 1.  SfEE=R Y0 UG HIUATER ANTSIA

demonstrate the emptiness of

phenomena ? IO AR AR ?

(A) The interdependent origination
of phenomena

(A) FATE REEs Sc

(B) Th.e divine will as the source of (B) sifeqem=n 9 = = =
existence

(C) The indivisibility of subject and (C) fawa enfor &=t stfawrserar
object

(D) The unchanging nature of self (D) ‘@' = IFUREd-E wwy

2. How many scales are there in Form | 2. T ik =UcAfSTehel stedl e 1 37ifr

I and Form II of Luria Nebraska wH I IWe fhdl SY=m=wA oed 2
neurological battery, respectively : A) 11 & 12
(A) 11 & 12
B) 12 & 12
(B) 12 & 12
(C) 23 & 23
(C) 23 & 23
3 EE



3.

Which among the following cranial
nerves is related to eye movements ?
(A) Optic nerve

(B) Abducens

(C) Hypoglossal

(D) Trigeminal nerve

Which brain structure connects the
two hemispheres of the brain ?
(A) Cerebellum

(B) Superior colliculus

(C) Corpus callosum

(D) Transverse fissure

Trait theories were largely derived

from :

(A) The way in which people form
and act out behaviours and
habits

(B) A combination of Freudian and
neo-Freudian theories

(C) Existential analysis of the way
people behave on a daily basis

(D) The words people use to
describe themselves and others
in everyday lives
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TTCATUehT HeeI=AT IV TH1 Sl
TS Hafad ofed 2
(A) e
(B) STHeRiAt
(C) erenfsreg <an
(D) Fremen =@

IO ?
(A) HTAKTH
(B) %= 99

(C) weEafs fig (Hyq helldH)

(D) &faw foers (Trased fHeR)

o N\~ o

Fferqatemee fagia amaRE i e
AR :

(A) <1 UgdiA Hel =1 Gt 3oy

v

AT SR <A

(B) wigfea snfor FawEfeas =
fagiaren Sevlt Ay

(C) <1 UG Wik qAfed Sitad SETm
RICECIISCE IS ERG L]

(D) A a1 STeqT=AT MR Tk
o 3o A S AT
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6.

Read each of the following
statements-Assertion (A) and Reason
(R); and indicate your answer using
codes given below :

Assertion (A) : Perception remains

constant although the proximal

sensation changes.

Reason (R) : Our perceptual

system has mechanisms that adjust

our perception of the proximal
stimulus.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

JUN - 13225/11—C

@l fearel g faum—faum (A) sufon

FHRU (R) 9=, 01 gHE IR @elld
Tohdieh aTIed ol :
faa™ (A) : 9HTRY dgq Sgdd ad

Hoga feer T

HRUT (R) : GHOE SAHIS! SAJeher

HLO=AT TA0N AT Fag T A

T

Tehdleh

(A) T (A) o7for (R) ¥ed @mea SAifor
(R) & (A) ¥ Irg TR TR

(B) Tl (A) for (R) ¥ 3ed 9ol
(R) & (A) = Ara TURo ATE

(C) (A) & ¥ 3R, 90 (R) B 3EA
e

(D) (A) 3HH 38 997 (R) § TH 3R




The “cocktail party phenomenon”

inspired research on :
(A) attention

(B) stage hypnosis
(C) alcohol effects

(D) biological rhythms

Which one of the following

statements is true ?

(A) The ‘Global Five’ factors in
personality refer to the second

order factors of 16 PF

(B) The ‘Global Five’ factors refer
to the factors assessed by the

NEO-Five Factor Inventory

(C) The ‘Global Five’ factors refer
to the factors assessed by

Goldberg’s bipolar adjectives

(D) The ‘Global Five’ factors are
derived from Eysenck

Personality Profiler

JUN - 13225/11—C

Flchedd TIel B IV FRiee I
A ?

(A) 3Ta9HE

(B) ®S HHIegd

(C) wEuIHE dfomH

(D) Sifaer daegal

WA hIvd o™ g e ?

(A) ‘SITTfdes 9=’ Teeh SAfRAameTa

THH AUt 16 HAfHFEE  HCHN

RHECEC

(B) ‘<irifaes 9ra’ w2 A3l 4= s
3T

(C) ‘SIrfaes U’ e Mosei<al

(D) ‘SiFTfass UT=’ See SATIH AT
3Ted
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10.

Which of the following sequence is
correct, with respect to early

selection theory ?

(A) Registration by senses —
Filtering — Unattended
information static — Designated

information processed

(B) Filtering — Registration by

senses - Unattended
information static — Designated

information processed

(C) Unattended information static
— Filtering — Registration by
senses - Designated

information processed

(D) Registration by senses —

Unattended information static
— Filtering — Designated

information processed

Henri Tajfel is the father of which
theory ?

(A) Equity
(B) Social Exchange
(C) Balance

(D) Social Identity

9.

10.

JUN - 13225/11—C
A= T fagraren deutd
WEATATeh! iU HH sReR e 2
(A) sfsamgR Aot — Mesolt — gaitad

Afet feeR — F7Ee shotedn Hifedie]
PIED]

(B) Tesvit — EfSAGR Ao — gaiiad
Hifedt feer — frgert Sheiean Arfadie]
EIERI

(C) Toifea wifedt feeR — TMesoll —
AR Ao - fAgs oo

ATfediar. ke

(D) Ef5AgR Ao — geifera Arfedt R
—> TMeBUTt — FTeRT Shetean AfadaX
wfskan

TR TShA § v fHgae S

3e ?

(A) T

(B) gmrtster fafia=

(C) gud
(D) TS e




Q.No. 11-15. are based on the following

11.

paragraph. Read the following
paragraph and answer five
questions that follow :

A researcher carried out SEM based
confirmatory factor analysis (CFA)
of six indicators on a sample of 500
respondents. Three indicators
measure altruism and three
measures trust. The ML estimates
are obtained. The baseline model
has chi-square of 1312 (p < .001).
She tested three models : M1 =
unifactor model, M2 = Two
orthogonal-factors model; M3 = Two
oblique-factors model. The chi-
square for M1, M2, and M3 are 230
(p < .01), 120 (p < .01), and 65
(p < .01), respectively. The GFI for
M1, M2, and M3 are 0.81, 0.90, 0.95
and AGFT are 0.71; 0.85; and 0.91
respectively. The Root Mean Square
Residual is 0.21, 0.09; and 0.04
respectively for M1, M2 and M3 with
phi = 0.54 for M3.

What is df of baseline model in
above example ?

(A) 36
(B) 12
(C) 15
D) 5
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11-15 : T GINEHM 500 WidEEHT
TR Hel fSweh= SEM 3Temid
‘gt wesk fawerr’ (CFA) kel
M e siegeeme (WUER)
T ShIard 200 i e (foward)
Y HAd. ML 2TETsieh  aTaiet
8. SHcEd Afsadl HI-TasT
1312 3® (p < .001). fo= =
T == hetl : M1 = Toheeeh
TEd, M2 = 3F SidiHa-se®
TEq; M3 = g e g-oes q&y.
M1, M2 701 M3 91t ShE-Taeri
A 230 (p < .01), 120 (p <
.01) 37T 65 (p < .01) 3. M1,
M2 a1for M3 4t GFI 31364 0.81,
0.90, 0.95 701 AGFI 3T3sH 0.71;
0.85; 3Tfur 0.91 3fed. M1, M2,
ST M3 et ® HIA RS
FEEgsTa (T 1 SR HaB)
3TERH 0.21, 0.09, 3T 4 3T ST
phi = 0.54 3T=.

11. S 3QTELUNA SHeled Areardl df &
R ?

(A) 36
(B) 12
(C) 15
D) 5
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12.

13.

14.

What is df of M3 in above example ?
(A) 11

(B) 8

(C) 6

D) 5

Which model is best fit in the above

example ?

(A) Only M1

(B) Only M2

(C) Only M3

(D) Both M2 and M3

Which of the following is correct for
the above paragraph ?

and altruism

(1) Trust are

orthogonal
(2) Trust and altruism are oblique

(3) Best GFI and AFGI are for M1

(4) All models are accepted since

chi-square is significant
(A) Only (1)
(B)

©

Only (2)
(1) and (3) both

(D) (2) and (4) both

12.

13.

14.
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A IO M3 &1 df FE 3TY 2
A) 11

(B) 8

(C) 6

D) 5

A ITTEAUMA hI0A EY Fard A
e ?

(A) e M1

(B) ® M2

(C) wFa M3

(D) M2 sufor M3 <=

el IR=ReTEe! Eefierteh! v sfie]

A ?

(1) faverg snfr Wosr § AtHA
3T

(2) favarg =7for WoeR § faewy emea

(3) HatwH GFI 3ot AFGI g M1 TSt
aTTed

(4) T Yrey TR ST shioT Shid
THAS-ALTNT T8

(A) ®e (1)
(B) ®H (2)
(C) (1) sufor (3) sS4
(D) (2) 30T (4) <=




15.

16.

17.

Which of the following values
indicates best fit for Root Mean
Square Residual in CFA ?

(A) Closer to 1.00
(B) Closer to zero
(C) Less than 0.50
(D) Higher than 1.00

The fact that the inner corner of a
room looks farther away than the
outer corner of a building provides
one explanation of the :

(A) Ponzo illusion

(B) Ames room illusion
(C) Poggendorf illusion
(D) Miiller-Lyer illusion

How does inducing positive affect
influence persuasion, according to
research ?

(A) It always leads to attitude
change regardless of message
strength

(B) It promotes a positive response

but depends on how the

message is processed

(C) It only works when the message
contains strong logical
arguments

(D) It has no impact on persuasion
as emotions are separate from

reasoning

15.

16.

17.
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@eftadent SV g CFA 783 &2 HiH
TR aegsrade waifas 3feq
A TeEd ?

(A) 1.00 =1 e

(B) ™A S8

(C) 0.50 U&m wHH]

(D) 1.00 Yan ek

IRed ; W= 3Taeh shiFT 81 SHRA
SR hramen X feEd, 7 o PIE]
IENSERCTRR

(A) dr=il 9

(B) T Tiefl 99
(C) di-slh 9™
(D) RIER-ARR 9

HYNLATHAR, FHWCHE IO 7
TBIUITeR. hAl TRUMH Hid 2

(A) G drRe fRdid owelt ol
TeHE AT IEAvaE R
3

(B) & UhRIcHE Ffaderen Hieded <4,
g G w W el W
R SFAAT A

(C) SR HIWTd HSTed dlfcheh FfeRTona
YA deerE o HE w

(D) AT TR IR Tl STHCAT Tl
T J@ITAER HIOTE RO B
I
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18.

19.

20.

A psychodynamic theorist would
predict that when faced with a
conflict between accuracy and self-
enhancement, people are likely to :
(A) Reject accuracy

(B) Reject themselves

(C) Become frustrated

(D) Compromise

considered

Psychologist who

Aggression to be a basic human

instinct :

(A) Sigmund Freud
(B) B.F. Skinner

(C) Abraham Maslow
(D) Henri Tajfel

As group size increased, individual
effort decreased, this phenomenon is

called as :

(A) Social categorization
(B) Social loafing

(C) Social exclusion

(D) Social comparison

18.

19.

20.

JUN - 13225/11—C
Stegl STl ST TGLROT ATHET Forsh
BI ISRl FARTHOeh FgTaeh Trehifors=it
T 9RId A

(A) ST gaAfed Hid

(B) @d:®e gaidl hidrd

(C) Iwhey B

(D) eSS L

FThAHR & JAYd ATl Yl AR
HAHRMTEHSA ¢

(A) faHe wre

(B) s.u%. f&r

(C) oToTEH A&l

(D) T ST

TS 3R STl Shi S ferkdsh Tdc] hHl

gard, 91 T 9 UMK

TN IS ERCRIETY

(B) 4i9rer fw

(C) WIS 3TqaSiA

(D) wrHISTR gor
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21.

22.

23.

A person not only has a set of
abilities, but also a set of potential
abilities that can be realized if given
the proper guidance from other’s.
Who propagated this ?

(A) Piaget

(B) Vygotsky
(C) Bandura
(D) Skinner

Gender schematic as are more likely
to see the word as

(A)

Divided into masculine and
feminine categories

(B)
(&)

Biased against their gender

Distorted ways that favor their
gender

(D) A place where their own gender
dominates

The child will typically play with the
toys and bring one to the caregiver
to show and describe it from time
to time. The child may be upset
when the caregiver departs but is
also happy to see the caregiver
return. This shows which
attachment style ?

(A) Secure attachment style

(B) Disorganized attachment style
(C) Ambivalent attachment style
(D) Avoidant attachment style

21.

22.

23.

JUN - 13225/11—C
T G 9= 99 Sliel STHal SIr=
TER FHOMTA gaehgd AMd /NG
fHesTeaTd o1 ThR 8IS Yehdld § hivf
e ?
(A) o=
(B) aTaic=ht
(C) =igu
(D) f=pR

qHeg fAmae TR et She
YRR TEUATE ERIdl ST

(A) geua STl St a1 S gfld
fawfsa s

(B) 7 W= faaamEed gaus gita
ST

(C) Td = ey feu ar=t
STIehedT SRIfaaa

(D) T = fommamers a=ia ST S
B I

TS I : TV Wosed 30T Shiesst
qEHTHS Teh MU o dedldedl SRId
S e b e G e G i EE
T o TS 8IS hd W hlesstt
STEehRTA I UIgd STHa! Q@id Bl
T HIUC Horda el quifad 2

(A) Fferd Hereh el

(B) srafed Hareh Vel

(C) Ifawm AN Worsh Welt

(D) TB0IET oo et
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24.

25.

Which of the following theory supports
the idea that when people pursue
positive goals their self-regulation
efforts are focused on reducing the
discrepancy between the current state

and a future goal ?

(A) Current goal theory
(B) Control theory

(C) Self-discrepancy theory
(D) Gate-control theory

............ theory of motivation stated
that the individuals are not only
motivated and driven from within,

but they are also pulled by external

factors of incentives.

(A) The drive reduction
(B) The arousal

(C) The humanistic

(D) The expectancy

JUN - 13225/11—C

24. WATAYh! vl Togid &1 el it

25.

HRIAS A=l qarael @-

TR 18] ohigd hed AT TIEerdt
9 IfTeheld Samete dawed hHt
FHLIME HegTel Iifes egifed ?

(A) W@ <3 fagm
(B) o= fagma
(C) @-9gHHs g

(D) Tre-frEsm fagia

AT, B e SATdes YIOm efur
YaieTes IRd Bd AEd T @ S
HZHE TAYAER Sl el .

(A) wEEAeTuE
(B) SIFRU/3IZEAH
(C) A

(D) TUeTEEAl
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26.

27.

According to the classic concepts of

Row & Kahn, successful aging

comprises of ...........

(A) High physical, psychological
and social functioning in old age

without diseases

(B) Factors within the person like

happiness

(C) Adaption to age related changes

in a given context

(D) Balance between person’s needs

and competency

Your ability to focus on a TV show
while ignoring the noise of your
partner nagging about supper

illustrates :

(A) synesthesia

(B) selective attention
(C) sensory attention

(D) sensory adaptation

26.

27.

JUN - 13225/11—C

T T S = TSI Fehea TIaR
T e WIS

(A) ATSUTTE™E JFTIRTBEA I

IIReh, AFfas 3Tfor grThelen
T T

(B) AMRERE KAHA =

(C) fecren wewla aamft Hafta searf
Sese[d HUl

(D) SHeR{T=A1 TSN 3707 &7l A=A

e

= AU AT SIS G
TSRS geiel e fe.fe. SR @1t hfsa
FOIME IE Al I Ed 2

(A) Gag G
(B) 99 94
(C) g @em™

() RCHEEIIRRIEE|
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28.

29.

The three types of Territory, i.e.,
Primary, Secondary and Public

differ on all of the following except

(A) Occupation by the owner

(B) Degree of personalization

(C) How others perceive ownership

(D) Concept of personal space

Which of the following lifestyle
factors is known to affect wellbeing

positively in late adulthood ?

(A) Mental and physical activity

(B) Alcohol consumption

(C) Retiring early

(D) Drug consumption

28.

29.

JUN - 13225/11—C

T yR" sy (2ReEd) =N,

TR, gHH N WESe @eid

HIUd Ieedl Hd oTedid (9= 3TRd 2

(A) HIcTRT=T I8

(B) SafrReRTome JHTOT

(C) 3T HITh! HIM oed

(D) JAferder SAGRTIM=T Hehod

WeATAdeh! A STFAA IV ST

e Ylegcar=al Icadid  STITEay

FhNHe IROMH Ha 2
(A) AR St
(B) HEIHIA

(C) wae gt

(D) 3= Jed
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30.

31.

32.

Crystallized abilities include the
ability to use skills, knowledge and

experience. These abilities tend to :

(A) Improve with age as

individuals expand their

knowledge through experience

(B) Decline with age along with

general cognitive function

©)

Stay static over time
(D) Do not change with age

is associated with cyber

bullying.
(A) Physical abuse
(B) Anonymities
(C) Ragging

(D) Hurtful teasing

What kind of processing involves
high levels of cognition controlling
and regulating events affecting

lower levels of cognition ?
(A) top-down processing
(B) bottom-up processing
(C) proprioception

(D) transduction

30.

31.

32.
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feer weien emamed (Crystallized)
HITTEH, JE ST ST FTRTAT &He
Tifese 1A, oA &HAHE

(A) SATER KT STIHAGAR & A
et a8 GRS

(B) SUMER W GIMcTS RS
e B

(C) hreniawH feer Tream
(D) STIER ScaAd el

........

(D) gECES WSS

HIUIT YR Gfshdd 3=9 Urdesi=l

ST T 37E; SAHes A= 1=
aifor fgee ol S 2

(A) I&A-Trell gfsham
(B) @reA-=) Hfskar
(C) sTiaifsa Hagd
(D) SR
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33. Equity theory is about :

(A) balancing rewards and

contributions in relationships

(B) the effects of social class on

identity

(C) how people make economic

investments
(D) the study of power and politics

34. According to Eysenck’s three-factor
theory of personality, which one of the
following factors refers to a person’s

level of stability/instability ?
(A) Extraversion
(B) Conscientiousness
(C) Neuroticism
(D) Psychoticism
35. e is not a type of neuron.
(A) Bipolar
(B) Unipolar
(C) Multipolar

(D) Homozygous

33.

34.

35.

JUN - 13225/I1—C
R DTN EAR IR
(A) TaEsHmE TR s deT
Tgferd o
(B) wrmifSrh gt sIferdeR grom
TR

(C) Wi TfYfeh T[aaveh e hiam

(D) g AT TSTehIOm=T 3787

AR = safgquta fagiarqan
WTATAUeh! hIOAT Teh ©Ieh oHaki=Al
feeran/arfeerar drdesielt Tefad MR ?

(A)
(B) heeagerdl
(C) wosHferahdt
(D) gHAERAT
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36.

37.

38.

According to Gardner’s theory,

intelligence is a/an ..........

appropriate

to specified kinds of content.

(A) Factorial elements

(B) Comparative processing skills
(C) Information-processing abilities

(D) Ability clustering forms of
thinking

What are the final two phases of
Levinson’s stage model for adult

development ?

(A) Transition phase, settling down

period

(B) Age 30 transition phase,

settling down period

(C) Transition phase, entering the

adult world phase

(D) Settling down period, age 30

transition phase

is not a part of digital

etiquette.

(A) Smaller but

message

intimidating

(B) Read first, write later
(C) Keep attachment short

(D) Review, review and send

36.

37.

38.
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TMER I TagiER Sfgmm e - fafire
ThRA RO frfed ot

(A) TITHE Hard™

(B) oMTcHsh Wfshal hivTed
(C) wfect wfshan &rman

(D) foamR wfsraien smarn W

Ue fasrmamae dfseaT=a ¥ A
YEed S W S0 TRed ?

(A) THHYT STerel, Reeauaman shierast

(B) 99 30 HshHUT Yo%, feerqervam=n
EAGIELH]

(C) HehHU 7erEel, Wie Sreal oA
TaAYT IO

(D) TEeRTevgr=T SHIEst, 99 30 eyl

...........

(A) BT WY FHRIGUIET ST
(B) W ar=n 7 fota

(C) Sirevit Hfare

(D) Ydcileh qarEsit 3Tfor ey

18
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39. Creativity is : 39. gorsflarar &
(A) Moderately and positively (A) H¥IH JHOMG 3T HehRIcH e
related to intelligence Jf gH] TEfd o1
(B) Strongly and positively related (B) Tﬁﬁ: d FRRICHRR FfgH]
to intelligence Hafd eme
(C) Moderately and negatively (C) A%gH YHIUMA d FhIUcHB AT
related to intelligence Sf gl ey 3T
(D) Strongly and negatively related (D) t@fﬁ: ThRRIHS AT gfgraai
to intelligence Hafya sTe
40. Atte.ntlonal cueing in infants 40. FdHITS wedifad FIEEE w1
requires : s
SIEREEY !
(A) Attracting the infant’s attention
with an acoustic cue (A) SAfTEchar AR A AYT B0
B) A iod of direct bef e N
(B) perioc of direch gaze belore (B) TSR S3aUaTge] 92 TSI shietaet
averting the gaze
(C) pointing in the direction of the (C) Aoy fRHe & qrEaul
attentional cue Caee .
(D) Teh TSR STSTT eAefelefl Hehare
(D) moving a colourful stimulus
towards the attentional cue IENEISIER
41. Indiv?d‘;?ls’hduring Secondar}; 41. TTORTETE SEATHSE oo UTREUTH e
appraisal in the cognitive appraisa .
T ARG, Rl
model of stress, ...........
(A) unconsciously recall other (A) ST TR 3 d [Qi 1<
similar stressful events SIS
(B) engage in the use of defense (B) TR @01 9TR 0T T
mechanisms
(C) evaluate their resources for (C) drurdurer= |HAT ShI0ATHS! A=A
dealing with stress TG Hedloh hidd
(D) experience resistance and then (D) YfgehR STfor =aR ek ST
exhaustion
19 EE
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42. When would a psychologist label a | 42, HFERTSR ool 9H=d: famaeie
child as developing typically ? T heal U ARA ?

(A) When they reach 2 years of age (A) e ¥ WA T IR
with no obvious physical et 9 A SE
problems

(B) Sieg1 d JaigHTd faehTerce AR

(B) When they follow predictable

STTEIU S {drd
developmental trajectory
(C) Sro&l q dr=d 3 EHeTHa=Al
(C) When they reach specific levels
fafere gaaiodd digreda
of reading and writing ability
D) gl 1 HRIeem =e] ¥ehdld
(D) When they can walk unaided D) v= s 4
43. Length and itensity of Light wave | 43. Yeh191 qO= Atelt 0T dlgar & oy
play an important role in :
Hexrsl et e

(A) Perception of colour and
brightness (A) T o7for =\ = Hagd

(B) Perception of colour and
illumination (B) T ST FHRT A Hofe

(C) Perception of constancy and .

PH Y (C) Teerar omfor =wer A= Heled
brightness

(D) Perception of brightness and (D) 9HS 30T YT A HAGH
illumination

20 [m] &% [=]



44.

45.

46.

Stephen Ceci has suggested that

intelligence consists of ........ that are
based and linked to the

multiple abilities; biologically
multiple intelligences; learning
modules; developmentally

(D) processors; cognitively

According to Milgram’s studies on
obedience, which factor significantly
decreased participant’s willingness to
obey orders to administer shocks ?

(A) The presence of an authority
figure in the room

(B) The participant’s belief that the
authority figure was responsible

for the outcome

(C) The physical and emotional
proximity of the learner

receiving the shocks

(D) The use of scientific-sounding

justifications for the experiment

People high in creativity also are
likely to :

(A) Combine different ways of

thinking

(B) Filter out irrelevant stimuli to

attend to the task at hand
©)
D)

Display extrinsic motivation

Be geniuses

44.

45.

46.
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fewa 9 A o8 gafaa o &t

3.

(A) wgfay &HdT; SIEED GTjSPTﬁ
(B) wgfay dfgra; stemem

(C) framTer; SeTfaesh ST
(D) UEER; AYHE ST

THemmH =1 STMYRRdaRid STYATEER,
TR ek SUaT=al STRINY  UTeid
FHITITAT  3=ST  HITCAT  EICHTH D
AU wH et ?

(A) Wiclta Tenl STfeepame Ut

(B) W=t e1t|1 favarm &1
AfesrT=ar=l =gad TfomETETS
SEIEFIE I

(C) 3fs fHesuT=a1 STegaasheaivh
IR enfor uefer Sacdish

(D) WANTIS! SfeRgsT A o=
TSRO SR

1 IR Sed gl STHA, T
3Tg Ihard

(A) fafay foam= TRt HIom=n

(B) Bl ShTHTER A&l Sl STHefad
mfg{wm
(C) ¥ed Won ef¥faum=n

D) dfgaH




47.

48.

49.

Use of symbols to represent words,
images and ideas, occurs at what

stage of development ?

(A) Preoperational stage

(B) Sensorimotor stage

(C) Concrete operational stage
(D) Formal operational stage

Which of the following is false about
HIV ?

(A) It is considered a terminal

condition

(B) Itis treated using antiretroviral

therapy
(C) At least half of the people who

are HIV-Positive are not being

treated

(D) About a quarter of people who
are HIV-Positive don’t know

that they have the disease

Cultural intelligence involves all of
the following dimensions EXCEPT :

(A) Metacognitive
(B) Emotional
(C) Motivational
(D) Behavioural

47.

48.

49.

JUN - 13225/T1—C
veg, gfadm o1 sheden gfevaTaTst
famgian st fasmr= FIvEn TTAER
g ?

(A) qd-mEfcHsh STaRe
(B) SGTHIH el
(C) 39 Hrlch 3Taee

(D) 3A9=iieh ek 3TaE
HIV =1 faoet Erefidieh! shive faum
I AR” ?

(A) B TR ST AFel S

(B) & ¥l I=NRIREA ITAR
REGIEICI LR

(C) &8 T & HIV-Positive 3THdw
e ITER B ARl

(D) T& FqAeT HIV-Positive TRl

B ANR 38 § Hifedl 9

aiepfas Iigmmesd @refiadst ad
i gEEy 2k e

INEE I CEIRCCED
(B) vafe

(C) W=F
(D) odfR

22



50.

51.

52.

Signal detection theory identifies two
distinct processes in sensory
detection :

(@) sensory process

(b) decision process

(¢) motivational process

(d) response bias

Codes :

(A) (a) and (b) only

(B) (¢) and (d) only

(C) (a) and (c) only

(D) (a) and (d) only

According to Kurt Lewin’s formula
behaviour is a function of which two
variables ?

(A) Appraisal and Attitudes

(B) Person and Situation

(C) Affect and Cognition

(D) Attitudes and Beliefs

The observation that scores on
intelligence tests worldwide have
increased substantially over the past
decades, this is called as :

(A) Flynn effect

(B) The generation gap

(C) The IQ effect

(D) The Wechsler effect

JUN - 13225/11—C

50. Tohd Iy fOgra &1 dgHie U= gF

51.

52.

= ufsra sfeEm .
(@) Sk dfshan

(b) ol gfkan

(c) UXumcH Hfsha
(d) wfafsan geue
ﬁé’ﬁfﬂ? :

(A) (a) 30T (b) Herd
(B) (c) 30 (d) ek
(C) (a) 0T (c) e
D) (a) 3 (d) Fe

e AfT=AT FAER T § hI0 I
TRadtd w3 ?

(A) IR emfor sTfvgedt

(B) =it smfor gfifeerdt

(C) wrE affor &ed

D) Afygat sfor favemd

NEdT TITHTALA FAIUa FfgHear
JFTATHER U fA@avATd gHIu
AT aTeet 3118, A1 FRI&og ™
U ?

A) T 9Romm

(B) fdda 3T

(C) dfgHan Tiums

(D) d=&eR 9o

23



53.

54.

Read each of the following two
statements-Assertion (A) and Reason
(R) and indicate your answer using
the codes given below :
Assertion (A) : Environments that
influence educational and cultural
opportunities enhance crystallized
intelligence.

Reason (R) : Crystallized
intelligence is developed through
stimulating fluid intelligence.
Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A)
Both (A) and (R) are true, but
(R) 1is mnot the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which of the following statements
is/are true with regards to Primary
prevention ?

(D

(B)

It basically means instilling
good health habits and
changing poor ones.

(IT) This means taking measures to

combat risk factors for illness
before illness has a chance to
develop.

(I) is true, (II) is false
(IT) is true, (I) is false
Both (I) and (IT) are false
Both (I) and (II) are true

(A)
(B)
()
D)

53.

54.
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Treht feaen @ faumiist g3

FE-Sfaae (A) 30 HRA (R) 370 goed

IW Telt feoied FEan R wed fo

faam (A) ;. Tefoe enfor Arepfas

Hefer IR FHI0M ATy et

FfEHAET =€ <d.

®IUT (R) : SUS® 39 dGfedignr

forteagse gfgaan faskfad ohefl Sid.

Hehdish :

(A) (A) 3for (R) St He 3Ted 30T
(R) ¥ (A) ¥ sRIsR TR T

(B) (A) e7for (R) <<l A 31, a0l
(R) ® (A) ¥ SR TR0 TR

(C) (A) ¥ 3T, 99 (R) ¥ =R 3R

(D) (A) I &R, 997 (R) § UK
3R,

Treiteren! v faem/faum ¥ mafyes

EISELEAR G n e B Bc: |

I) o o3 =iTedl TR Ha 3o
e HU HI0

(ID) gr=n 31 o7 &1, 3wk fashfad
BTG ST ST/ SR
A T SHEEE U
RISEICItoL

(A) ) T 8, (D) § 6

(B) dI) &, (I) 3™

(©) () 7for (1) Irer T

D) 1) =t (II) S8 J&
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56.

57.

......... is a general term that refers
to illnesses caused by
atherosclerosis, the narrowing of the
coronary arteries.

(A) Metabolic syndrome
(B) Diabetes

(C) Coronary heart disease
(D) Alzheimer

is defined as life satisfaction,

the presence of positive effect, and a

relative absence of negative affect.
(A) Happiness

(B) Life satisfaction

(C) Subjective well-being

(D) Positive affect

Selective attention in vision and
audition respectively have been

dubbed as :

(A) ‘optic’ and ‘haptic’

(B) ‘spotlight’ and ‘gateway’
(C) ‘spatial’ and ‘acoustic’

(D) ‘central’ and ‘peripheral’

56.

57.
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1 SATSTRIAT HROTHIS! FTIRAT ST T
g Hepiad oA

(A) TIIET HAT

(B) WYHE
(C) &I
(D) ST

(D) 9hRIcHS 91d

IHA TS MM ArEaTS giREToen
(audition) 99 STAYFHL HIM Td
& 3E ?

(A) WehTTeTE e Rfesw
(B) YehRTE 0T YaER
(C) 3rehTefl 3Tfur eafemes
(D) wezert i afEt

25



58.

59.

60.

What factor increases the pressure
for uniformity within groups,
according to Festinger’s explanation
of conformity ?

(A) The presence of a strong leader
(B) An explicit group goal

(C) The size of the group

(D) Individual intelligence levels

Which therapeutic method is most
effective in handling the initial
phase of treatment ?

(A) Group therapy

(B) Psychoanalysis
(C) Gestalt

(D) Behaviour therapy

Read each of the following two
statements—Assertion (A) and
Reason (R) and indicate your answer
using the codes given below :
Assertion (A) :Intelligence is a
single entity.

Reason (R) : Various types of
intelligence exist independently of
each other.

Choose the correct response :

(A) Both Assertion (A) and Reason
(R) are true, and Reason (R) is
the correct explanation for
Assertion (A)

Both Assertion (A) and Reason
(R) are true, but Reason (R) is
not the correct explanation for
Assertion (A)

(C) Assertion (A) is true, But
Reason (R) is false
Assertion (A) is false, but
Reason (R) is true

(B)

(D)

58.

59.

60.
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TR STTERA=T TEhIvIAN,
HIVAT THh TEIHE THEIAAS gard
Jreadr ?

(A) TR TS = Iufeerdt

(B) RN TH TR &Y

(C) =T AR

(D) JFfeaer FfgHa e

SYARI=Al gEATI=d] WA Il

SUARICHS: Ugd Taid 99el 38 2
(A) T2 3IT=R

[ N

(B) HAIfO¥eIS0 3U9R UGl

(C) gHT 3UER UEdl

(D) o9 SYER TGt

Treiierieht S faem (A) sufor &R (R)

aTel 9 Weftel feeiean Fohdiehrdeh! ga

I e

faam A) : igHm & et o5 o

&RUT (R) : fafay ger=n gigaamn

i giaderEl fae &3 ¢

(A) < faam (A) =nfor *Ro (R) ©
SRS 3T (07 RO (R) & faemm
(A) 9 I TEIHRIO 3T

(B) Tt faum (A) sfon %R (R) &
TR 3TE, 901 &R (R) ¥ faum
(A) 3 I TSRO AR

(C) faum (A) & ®R T, T HR
(R) T 39 3§

(D) fagm (A) § T 3T, TUT HRI
(R) 9 T8
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61.

62.

63.

Which of the following principle is

used by parsimonious fit indices ?
(A) Occam’s razor
(B) Preference for complexity

(C) Avoidance of

explanation

(D) Goodness of fit

simple

The theory of knowledge, especially
with regard to its methods, validity,
and scope, and the distinction
between justified belief and opinion

is referred to as :

(A) Ontology

(B) Epistemology

(C) Methodology

(D) Post-positivism

Which of the following is correct

meaning of ‘Blocking’ in

Randomized block design ?

(A) Participants with similar

characteristics are grouped

(B) Participants with similar
characteristics are removed
from experiment

(C) Participants with dissimilar

characteristics are grouped

(D) Random errors are blocked

61.

62.

63.
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WA shIvd axa 9= fire feemes
AT ?
(A) STehm=Em TR
(B) Sifeetden wem=
(C) W= TOeSehiume 2resul
(D) T4 3w fthe
ST fagia, foRio: e gsdt, Sud

afor =aredt emfor = igl Smfvr Ha
AT ek 91 Hewia fomm o
difcaeh od OISl :

(A) TERTE (SArersi)

(B) STRITEA

(C) dgareme

(D) STR-YATIAR

Igfoseh s fegme el ‘saffon’ =
TICAUsh! ol 27ef SRR 3T ?

(A) TUH Sf¥Teesl 3reTel WY Tess
ohel SITATd

(B) HHM YIS STl TEUIT WA

cplgd <lehel Sldld

(C) = afyr= erciel TRYFT Teds
ohel SITAT

(D) Igfea I I hedl Sad
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64. Following are the statements of | g4 faym (A) snfoT RO (R) =1 w=m@me
Assertion (A) and Reason (R). 2
Answer them with the help of the e faert e e feeren
following code : TohdTehT= TEEAM 3aik ol ¢
Assertion (A) : Karl Popper & A) : T urER A T

argued that
conjuncture and RIESEIHETS I RERIEIR!
falsification are .
involved in science. AT SO0 SR
Reason (R) : Popper takes I GHEYT SR
falsifiability as .
solution of HRUT (R) : WM &0 Hfshaa
demarcation problem FrEiEg AEEs
and problem of
indiction. foRTHATN AR TR
(A) Both (A) and (R) are true and TEUA HEA.
(R) is the correct explanation
of (A) (A) (A) nfor (R) <l W 3meal AT
(B) Both (A) and (R) are true and (R) T (A) ¥ TR FHROT 37
(R) is mnot the correct (B) (A) =71 (R) el 9 3Ted, W
explanation of (A) (R) ® (A) ¥ SRR SR &
(C) (A) is true but (R) is false (C) (A) ¥ 3T 9 (R) ® 319 3T
(D) (A) is false but (R) is true (D) (A) 3G 3T 90 (R) & T 3T
65. What is the Third Force of | 65. HFERISTA &= Yekilel i WA ?
Psychology called ?
(A) FER
(A) Behaviorism
(B) HMAdEG
(B) Humanistic
(C) HAfageTsUETR
(C) Psychoanalysis
D) qH
(D) Gestalt psychology &)
28 [] 25 [w]
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66. Which of the following are quasi-

JUN - 13225/11—C

66. TclcTdsh! ShIv STH-THEITTS fegms

experimental designs ? A ?
(1) Interrupted  Time-Series (1) Fafad wB-Aifaen fesme;
Designs; (2) F9qE o e e e,
(2) Non-equivalent Control Group » X
Design; (3) FHJTT THoid TIIFAT AT
(3) Time Series with Non- hres-HITCTHT TS,
equivalent Control; (4) <A ISHEIRHE
(4) Block randomization @A) (1) %
(A) (1) only B) (@) T
(B) (2) only
(C) (1) and (3) only (© () =t (3) 5
D) (1), @), and (3) only @) (1), @), 3 (3) P
67. Which of the following is non- | 67. Weliciush! IV FH-THRIRTA gafd
pictorial projective procedures ? T
(1) Word association test 1) a2 sRfawE ==
(2) Sentence completion test (2) T hitewH ==l
(3) Figure drawing test (3) PR ST ==
(4) Thematic apperception test (4) oifess STOEwE ==l
(A) (1) only (A) (1) e
(B) (1) and (2) only (B) (1) smfor (2) et
(C) (1), (2), and (3) only (©) (D), (2), =7 (3) e
(D) (1), (2), and (4) only D) (1), (2), 7 (4) e
29 OE0|



68.

69.

70.

The type of counselling process
proposed by Carl Rogers is .........
(A) Directive counseling
(B) Eclectic counselling
(C) Dominant counselling
(D) Non-directive counseling
The psychology that stresses the
relationship between the individual
and the cosmos (universe) and in
doing focuses on the mystical and
spiritual aspects of human nature is
called :

(A) Transpersonal psychology

(B) Existential psychology

(C) Psychoanalytical psychology

(D) Behavioural psychology

Which of the following is a major

difference  between  Indian

Psychology and Indigenous

Psychology ?

(A) Indigenous Psychology is more
theoretical than Indian
Psychology

(B) Indian Psychology has a specific

theoretical foundation, while

Indigenous Psychology does not

(C) Indian Psychology is only

applicable within India, while

Indigenous Psychology is global

(D) Indian Psychology rejects

cultural influences, while

Indigenous Psychology

embraces them

68.

69.

70.
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FId AT gEarfad holedl THIRY™
EIE I I EOTY
(A) freTers quRsE
(B) TRIE TR (TR FYRIH)
(C) Y@ HHIIIH
(D) TRK TEeRT T9yH (FF-SRRfRS)
et mfor fave Ar=Adel e W
JUR T AEl e @ S
Merforss e a4 shfsd 0
IR © .oo

(A) IR-Sgfaeh HHERTE (IFI9ET
TS )

(B) SARKIIcHS HITERITE

(C) HAIa¥IoUTcHS: I

(D) U AR

AR HERTES ST TWRet AU

TICATUh! HIU THE Feh S ?

(A) TEEIM  HEGIMET TR

HFETSNe e Ygifaes e
(B) YR AFEemSen fafyre dgifas

M 37T], TR TS AR ARl

(C) HIRTTH AIHE ekl HXATTE Tl
B, T WYl AL Sfdeh 31

(D) IR HHERTE R iae G
TR, T ERIM AR &
TR,
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71.

72.

What is the range, mean, and
variance of normal probability

curve ?

(A)—ooto+oo;u;c2
(B)—3to+3;u;c52
(C) —ooto + o0; 0; 1
(D) —3to+3:0;1

The following are the statements of
Assertion (A) and Reason (R).
Answer them with the help of the
following code :

Assertion (A) :
sampling ultimately leads to

Theoretical

theoretical saturation stage in
grounded theory.

Reason (R) :
requires checking emerging theory

Grounded theory

against reality by sampling
incidents that may further its
development until no new categories

can be identified.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

©
D)

71.

72.
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TEE GUTSIdl gl I8, Heg ST

forere whIvd 38 ?

(A)—ooto+oo;u;cs2
(B) — 3 to + 3; w; o>
(C) —oto+ o« 0; 1
(D) —3to+3:0;1

fau™ (A) oTfoT &RO (R) A1 GAEE!
e faum fet omea. @l feeren
HohdehT=A TR 3ak Tl
faam (A) : Ssife T4 T TS
fagame) S5ifae Tyea= o= .
®EUT (R) : U8es  fagiarganr
forfaa o= foagrar=h arafashazht
THAT AT h&A U HI0] AR
3R, SMes & a1 cseredl SMEudd
el faed ge S eRdl
(A) (A) 37for (R) Sel | 3T S0
(R) ¥ (A) ¥ & HRO TS
(B) (A) 37fUr (R) Tt & 2red, g
(R) B (A) = aUR R
(C) (A) TF TR U1 (R) § 3T 3T
(D) (A) 3FEA 3R 997 (R) § §A TR

31
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73. Arrange the steps of Braun and | 73. ST a7l Fooreh  eftife fawersom=a
Clarke thematic analysis in the I AT HEH Al
correct order : (1) WRfY® e TR FHO
(1) Generating initial codes : (2) 3Ol
(2) Searching; (8) 3Mes@ Hed =U
(3) Familiarising; (4) 9ftsiforg sReor emfor <= <O
(4) Defining and naming; (5) TR 0!
(5) Reviewing A) 1) > (©2) > @3) - @) — (5
A 1) > (2) >3 > @) —> 5B) B) (2) > (1) = 3) = (65) - (4)
B) 2) > (1) >3 > 6) > @ ©) 3 > (1) > (2) > (5) > (4)
C) B3>0 ->2 —>06B > M) 5) > (4) > 3) = (2) = (1)
D) (5),_)(4) ,_)(3,)_>(2) - (1) 74. It 1 i A€t 11 weftel Sirgan aren 3T
74. Match List I with List II and select " - .
the correct answer using the codes A FRAFTA SR SR
g
given below the list : . ardt 1
List 1 (reiifean amratt )
(Parametric Tests) (P) T&d T ==
(P) Independent Samples t-test (Q TH{ 3
(Q) One Way ANOVA (R) Tacifea - -=reof
(R) Dependent Samples t-test (S) fueTd==n wegay
(S) Pearson’s correlation IJrat 11
List II (A-WRifeer g=ie)
(Non-Parametric Alternative) (1) §Ea (fa=) ==
(1) Sign test @) Taem (W) =l
(2) Medlal.l Test (3) wmRIfTEe (famdt) =mEv
(3) Binomial test. (4) Feha-alfer =l
® Kondals Tau ®) S
Codes : :
® @ [®R) (S P @ @R )
B) @ 2 1) 3 B) @ @2 @ @A
© 1) 2 @) ) © @ @ 3 6
D 2 @1 @ @) D 2 @O @ O
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75.

76.

Psychologists confine the concept of

motivation to those factors that :

(A) Energize behaviour and

determine its direction

(B) Relate either to life instincts or

to death instincts

(C) Assume rational behaviour by

individuals

(D) Are biologically based and

predispose and organism to act

A ring of multiple arteries which

provides alternate bloodflow

pathways and guards the brain

against damage is called :
(A) Cranium

(B) Meninges

(C) Circle of Willis

(D) Blood Brain Barrier

75.

76.

JUN - 13225/II—C
HTHMER YN Hehourell 1 HehTgLd
Tifed Sad

(A) gfwg ada sfor = fen

IRIFERIETY

(B) Sad Heswait fohal Jog Festaad

ey Sredrd

(C) =it difeheh A Sham 39 TRIdeh

R IR NIG

(D) Siforehder Sefd 3T oo el

SR{0IE HIT qredid

3h AT djes il YA EyaTg AR

T Ll ST HGH THTARA T&T01 Ll

..........

(A) FHaET Ym

SN

(B) wfegss steror (Af=siE)

(C) fafere =ide

(D) T Hg sTe¥a
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717.

78.

Following are the statements of
Assertion (A) and Reason (R).
Answer them with the help of the
following codes :

Assertion (A) : IRT is commonly
used in computerized psychological
testing to estimate ability.
Reason (R) : IRT,
parameters can be estimated.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true and
(R) i the
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

In four

1S not correct

Which among the following is the
correct order of changes in the
membrane potential during an
action potential ?

(A) De-polarization, Hyperpolarization,
Re-polarization, Polarization

(B) Hyperpolarization, De-polarization,
Re-polarization, Polarization

(C) Polarization, De-polarization,
Hyperpolarization, Re-

polarization

(D) Polarization, Hyper polarization
De-polarization, Re-polarization

77.

78.

JUN - 13225/11—C

faum (A) o1for ®Ru (R) A1 JeAM™IR
qErd faum foeft smea. @meft foeresn
WWW@T :
faam (A) : gFd=1 ] SuETERe
WUhIhd HHESTENE =m=uiged IRT
= IR WHEIA: ohall STl
&RUT (R) : IRT 9&d, IR TOHies=n
3TSTSl dradm Al
(A) (A) 3707 (R) & =1 T 3TRd (0T
(R) T (A) ¥ SRR HRI Y
(B) (A) =7fr (R) & Tl T 37Ted,
97 (R) © (A) = IR RO A&
(C) (A) ¥ 38 90 (R) § 31HA 317
D) (A) 39 3T 997 (R) § 9 3Te.

FHTTHIGT TeqIeHaned  (HeT=l
THAHEY ) IO SIGeld Weiielueh! shiord
HH AT AR ?

(A) fagdieno, sifageienon, Tgeim,
Peieau

(B) afayeienur, fageieror, Tageten,
Peicau

(C) yeitentur, fayeierto, stfayeiteno,
TAYelTehT

(D) yeitentur, sAfayeiero, fayeiteno,
EEEEERY
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79.

80.

81

When individuals receive

information about an aspect of their
physiological state and then they
attempt to alter that state. This is

in an example of technique :
(A) Relaxation

(B) Biofeedback

(C) Exercise

(D) Hypnotism

Thinking is a complex set of

collaborations between

representations and processes.
(A) Linguistic; semantic

(B) Linguistic; verbal

(C) Semantic; non-linguistic

(D) Linguistic; non-linguistic

For MCMI 1V, which of the following

is not a severe personality pathology ?
(A) Schizotypal

(B) Borderline

(C) Paranoid

(D) Schizoid

79.

80.

81.

JUN - 13225/11—C

I8l Rl el el Hifes Uidadieeia
e W e Sfeal 1 idesl SIqeToarl

(D) nferr; stenforR

MCMI IV 41dt, @reiterdent Fiv 78R
HAfraa dofarst A ?

(A) fergierTa

(B) «ietemsa

(C) WrHgs

(D) fergizs
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82.

83.

Which among the following is the
main function of the pre-frontal

cortex ?

(A) Controlling reflexes

(B) Weighing the pros and cons of

a possible action

(C) Receive light-touch and deep-

touch information

(D) Understanding the speech and

form of language

What is the relation between
coefficient alpha and coefficient of
precision when a composite test is

made up of non-parallel subtests ?

(A) coefficient alpha = coefficient of

precision

(B) coefficient alpha < coefficient of

precision

(C) coefficient alpha ~ coefficient of

precision

(D) coefficient alpha > coefficient of

precision

82.

83.

JUN - 13225/11—C

JeAeTe STeIshT (Withied ShRea) J&A

HTd WeATdAdeh! HIG 3R ?
(A) wfaem fafa o
(B) 99 o e oAfYr e Hiero

(C) st Tquiiy emfor wfe=an warA
et W< IO

(D) YOdd oeded AT e ey
HESA B

Siegl WY ATEUl WHIGY Aqd el

SURTHUHAT SeTel ST deal 3T TR

ST ST U A=A HE FaY

I ?

(A) STERI TUMeh = 3Thd=l TNk

(B) 3TTHI UMk < SThd=l UM

Q

(C) 3T UM ~ SThd=l [0S

(D) SR UMk > Tehdal U
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84.

85.

Which among the following

statement/s best explain/s the role

of Blood Brain Barrier ?

(I) It controls the oxygen supply to
the brain

(II) It protects the nervous system

from toxins and viruses

(ITIT) Allows the free flow of molecules

across the brain

(IV) Hypertension can compromise

the blood brain barrier
(A) Only (I)
(B) Only (II)
(C) Both (II) & (IV)
(D) Both (I) & (IV)

Which of the following personality
measure contains assessment of

faking ?

(A) EPQ-R

(B) NEO-PI-3

(C) HEXACO-PI-R

(D) IPIP-NEO

84.

85.

JUN - 13225/11—C

TRl Hivd faura waRg=an

STEgeTdl e HATHIU T I ?

@) q g AR el FEf s

D) @ Fosmaeds foomd uered e
TOTSO[aRE &0 &hd

(ID)HEHEA I0[=1 Ha9aE Hivdard
TR 3

(IV) SRR ERHGAT TSI

qESSIE HE& Iehall
(A) wF (D)
(B) (I
(C) T=E (1D smfor (IV)
(D) <= (1) sfor (IV)

WeteAdeh! v SFfaaATe  ATIATd
TIUUE i THIfOR T ?

(A) EPQ-R
(B) NEO-PI-3

(C) HEXACO-PI-R

(D) IPIP-NEO
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86.

87.

According to the Schachter-Singer

theory of emotion, which sequence

of event is correct for the production

of emotion ?

(A) Perception of a potential
emotion-producing situation; an

body
interpretation and labelling of
the bodily state

(B) An aroused body

interpretation and labelling of

aroused states;

states;

the bodily states perception of
potential emotion producing
situation
(C) Interpretation and labelling of
the bodily states; perception of
a potential emotion-producing
situation; an aroused body state
(D) Perception of a potential
emotion-producing situation;
interpretation and labelling of
the body state; an aroused body
state
Edward’s personal preference
schedule is based on :
(A) Maslow’s

hierarchy

theory of need

(B) Murray’s theory of needs
(C) Freud’s theory of Id-Ego conflict
(D) Roger’s theory of personality

86.

87.

JUN - 13225/11—C

Hae-TaTR A= ve fagiargan
TTCATeTeh! IO ST STIShH & HIaAl
ffHden dma e ?

(A) gw wrer-HiHd aitfeerd= doe;
IR TR Idedl; eRiReR araess
forgereror smfor efesw

(B) 3<ZHUd IR drdest; TR e
fagasm sfor efiwwvt; g«
wyrerT-fafit aRfeerd= dae

(C) vtk urdada fagarsor o
ST, g e HiHd TR
Hog; IqEIud TR raas

(D) ga -t afifead= goe;
iR aras fagdsor sfur
HieeEl; IEIYd IR e

TEaed A UHH Yegd — A
id 3R

(A) Hocr=n e faga

(B) W= TRehtasEEr faga

(C) higeH 35-2T8H Temie=n fagi
(D) s AfraA < fagid
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88. A periodic production of action
potentials that takes place even
without synaptic input is referred

(A) Reflex arc

(B) Temporal summation
(C) Spontaneous firing rate
(D) Excitatory potential

89. Which among the following tiny cells
helps build the myelin sheaths in
the Central Nervous System ?

(A) Radial glia

(B) Astrocytes

(C) Microglia

(D) Oligodendrocytes

90. Which of the following best describes
Sri Krishna’s initial guidance of
Arjuna in the second chapter of the
Bhagwad Gita ?

(A) The importance of renouncing
all actions

(B) The eternal and changeless
nature of the self

(C) The superiority of Bhakti yoga
other paths

(D) The resection of all worldly

duties

88.

89.

90.

JUN - 13225/I11—C
A Qoo Afsdieemd (379e)
B Tt feanermdren fAftden =
o ?

(A) wfasg =g

(B) hifeter THTEheA
(C) TR gfa9rg

(D) S fava

TTTTdeh! IO TEM UL HeFe
TSI AR STaX (HRfeHRg)
TIR oA Hed hia ?

(A) esta Tfean

(B) TRy (dRI-3ThRr=A1 Teit)
(C) g&d TRt (wrEshifteran)

(D) "STdq=AT  JERUTE 9l

(stferegrEed)

= GH ST STl e
feeiean geardi= ANQeHT Seierdeh!

HIUA T U A 2

(A) Td HAMT T HOIE Ao

(B) =M= IREd offur eraRedHia

ey
(C) 3R 9d AFTYLT Yot AT 953

(D) Wel THIe SHaeAr=l @M
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91.

92.

93.

Creative thinking is different from
routine problem solving in respect
of :

(1)
(2)
3)
(4)
Codes :

(A) (1) and (2)

(B) (2) and (3)

(C) (3) and (4)

(D) (1), (2) and (3)

Thurstone is associated with which
of the following ?

Fluency
Flexibility
Originality

Day dreaming

(A) Equal appearing intervals scale
(B) Social distance scale

(C) Semantic differential scale
(D) Summated ratings scale

Which among the following is a
function of efferent axons ?

(A) Controlling the voluntary

behaviour

(B) Controlling the involuntary

behaviour

(C) Carrying the information to the

brain structures

(D) Carrying the output from one

brain structure to muscles

91.

92.

93.

JUN - 13225/11—C

e foemR ® = Sredid
AgHT=AT gUET giefauargen e
AT

(1) yergon

(2) orafaeRdl

(3) Heashdl

(4) feame=
Gehdieh :

(A) (1) 3o (2)
(B) (2) o (3)
(C) (3) =nfur (4)
D) (1), (2) 2w (3)

WAt HYMRN oA I HHERRSRE
TaY AR ?

(A) Gweell STaa gg
(B) 9mifSer 3T {Iquit
(C) erefm fasdt Arqoft
(D) THRIAd IeHE=Es A9t

HYETE! SEF Weeieh! vk FH 38 ?

(A) TUfe® a1 fafaa o

ot

(A412Ad ch U]

(B) e™fwgs oA

(C) Hg=a wavda wifect fafa s

(D) H= THT TAqd EEadd Hifedt
g 0.
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94. Which of the following alternatives
is ‘True’ for the statement of
Assertion and Reasoning ?

Assertion (A) : The Eightfold
Path consists of ethical, mental, and
wisdom based practices.

Reason (R) : Right speech, Right
Action, and Right livelihood from
the wisdom section

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) (A) is true but (R) is false
(C) (A) is false but (R) is true

(D) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A)

95. According to Freudian theory, an
individual who is guided only by

JUN - 13225/11—C

94. faum (A) snfor RO (R) faummm:

95.

TICACUsh! g TAE Rl TR ?

faam A) : erseifres wmfa Afass,
YHfEeR ST M-SR Jgden THas
3R,

HRUT (R) : AT {IO0], I Sl ST

g IYSifaehl § TM a9 Sfea.

Hohdleh :

(A) (A) 3T (R) & Tl SRISR 3T ST
R) ¥ (A) ¥ 919 T TR

(B) (A) T @R 3T, T (R) & I T

(C) (A) T I 3T, T (R) T IR T

(D) (A) 3T (R) & S SR 3Td TRy
R) T (A) ¥ AT TR AR

RisSaT= g aR St o9l e
qEER a1 qa AFRid sTHa,

pleasure, has no internalized social TS SaTEE s e aiarid
rules of behaviour, and has little Sholol -THATd, STfUT Sr=ammed 38 Ao
ability to balance the id with reality FIEdadl ITHES g@tﬂ YU Fafeag
demonstates an : Har 8T Ed § T Tuffer.
(A) overdeveloped ego (A) efdfaenfad aT8q
(B) overdeveloped id (B) Afafaenfad 3§
(C) overdeveloped superego (C) sfafererfad TgH
(D) underdeveloped id (D) 2Afaerfad 3
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96. Which of the following is/are true about | 96. ¥ (3TMaew) i IRERUEISER]
the item discrimination index ? TR A SR AR ?
(I) It is a measure of reliability (I o foveads T A9 3R
(II) It is a measure of validity (II) T Jenefa= AO9 3R
(A) (I) only (A) e (D)
(B) (II) only (B) ®ad (ID)
(C) Both (I) and (IT) (C) (I) swfor (ID) <=l
(D) Neither (I) nor (II) (D) (I) sufor (II) At &
97. Which among the following | 97 wEcfiatest S WEE ek ST
chemicals is actively involved in e gierg o ?
hunger and satiety ?
.. (A) U= =T
(A) Cholecystokinin .
(B) Angiotensin B)
(C) Bradykinin (©) et
(D) Histamine (D) fewmre
98. Which of the following are factors 98. WEHWH QWfaorT?qT ECIISICLRIER
adversely influencing interpretation TeATTiehl HI0 ¥k Fidepel IROMH
of correlation coefficient ? EXGINI
(1) Sampling Restricted Range (1) waifeq = ﬂl;lﬂ oy
(2) Combining Heterogeneous (2) g 5qHJ-i\5[-q thﬂ']oh{w
Subgroups
Sroup (3) o= AR IufEerdt
(3) Presence of Bivariate Outliers
(4) TofrFan
(4) Linearity
A) Had (3
(A) Only (3) = ®
(B) Only (4) B) 1 (4
(C) Only (2), (3) and (4) () # (2), (3) M (4)
(D) Only (1), (2) and (3) (D) (1), (2) 3 (3)
42 [] 25 [w]
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99.

100.

When two forms of the same test are
administered on the same sample
immediately one after the other, this
procedure will allow the researcher

to study :

(A) Reliability across time

(B) Reliability across content

(C) Construct validity of the test
(D) Concurrent validity of the test

In which of the methods of

physiological psychology devices are
precisely positioned in the depth of

the brain ?
(A) Stereotaxic surgery
(B) Aspiration Lesions

(C) Transcranial Magnetic

Stimulation

(D) Deoxyglucose Technique

99.

100.

JUN - 13225/11—C
GENGRTE B ST 0™ 7ed i
(A) HIBIHER fagad=iad
(B) STERIER fagerster
(C) =m=avii=i Hgifde e
(D) Gwerdt e
YRR HHERIRATT v Tgdtaes e

HA IR TRV Al S ?

(A) T=eReARfegs sEfman

(B) ORI IRINA BIOR 301

(C) TR FahE I

(D) feemfrmreens @
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